
1 

¨ Inspect all contents prior to installation. Report any missing parts to dealer immediately. 
¨ Read all instructions before proceeding. 
¨ Save this instructions in the event that the manufacturer must be contacted in the future 

—— Instruction Manual —— 

SHCLKBKTW 
WALL MOUNT SHOT CLOCK BRACKET  

NOTE: 
This bracket is intended for use only with the Bison SHCLK300 Wireless Shot Clock Systems. 

Implementation Date:  2/12/24          Rev:2        N.J.C.         File  \Publisher\Instructions\Backboards\SHCLKBKTW.pub       Ref#: 950520      L.M. 

Customer Service     
(800) 247-7668 

P A R T S   L I S T  

Item Qty Description Item Qty Description 

A 2 Shot Clock Bracket C 8 3/8-16 x 1” Hex Bolt (Packaged with Shot Clock) - FT1541 

B 2 Shot Clock (Order Separately) D 8 3/8” Lock Washer ( Packaged with Shot Clock) - FT1960 

Warning! 
Wall mount brackets require an acceptable wall mounting surface. Brick, block, or poured concrete 

walls are superior. It is inadvisable to mount brackets to walls with wood or steel studs unless additional 
work approved by a structural engineer is done to provide additional support. Bison does not provide 

wall anchors with any brackets. The purchaser assumes liability for the installation of any wall 
mounting brackets. Consult a professional architect, engineer or contractor to determine safe methods 

of installation to your facility’s wall construction. 

NOTE:  
Bison does not provide hardware to attach the Shot Clock Brackets (A) to the customer’s wall. 

Attachment method and type of anchor used are the responsibility of the installer. 

1. Mount the Shot Clock Brackets (A) to the walls at locations that can best be seen from the court by 
players and officials. 

 
2 After installation of the Shot Clock Brackets (A) to the walls, place the  
 Shot Clock (B) on top of the Shot Clock Brackets (A) to prepare for installation. 
 
3 Using 3/8-16 x 1” Hex Bolt (C) and 3/8” Lock Washer (D), Install into the threaded inserts in the 

bottom of the Shot Clock (B). See Figure 1. 
 
4. Position antennae on the Shot Clocks (B) so that it maximizes the line of sight to the location where 

the Shot Clock Control Panel is to be operated. 
 



2 

 
5. Each Shot Clock (B) will require a 110-volt AC receptacle to provide power. A 30’ long power cord is 

provided with each Shot Clock (B). Once it is determined where the source of power is located, attach 
the power cord to the connector on the bottom of the Shot Clock (B) and run the cord neatly to the     
110-volt receptacle. If the 30’ power cord is too long it is acceptable to shorten and reinstall a new male 
receptacle on the end. 

 
6. Additional operating instructions are included in the manual provided with the Shot Clock. 

FIGURE 1 


